5. 600
I 1,850 1200 2,550 |

777777 -

p — 722 e ——r T A,
7 gz 9? 7z 2] Az Z77 / e Z I/'
. o o] : i ,
7 I 7 7 xE g | ,
00 X | Toxa v , 7 \ ©
0 ohizs0 ’:;;:;;:;:/,/;:;z;:;,/‘ - P
% . =
7
7 \pe 7
?? %% S Kzt |
7%, 2%
%7 7 L =
7 27
7 27
77 74
. 1L .
’? ’? 3] [ v
? 0 1216 B Ry | = e 7
4 . — » ,
7 7 L 77 7
i ) L g, N
210 é? 5? [ /
o 7 /
= ) 7 e 4 0 ?9
. 7| 7 3 )l nl7
~ I £ore ? 2 grzien % 7
‘“f I - LDK i i
% v 7
N . 10.7 96 ) 1
7 /‘ _J 27! %
1 ) e R 7 1
A < A A 0| 7 7
il TRERE g? g; 7
i 7 I ) yr—
| e / — 0 h
7 v 7
; ?9 A 7
. e o 1
7 7
Ll 2 77
ﬂ | |
% . 7
” B=Fob-I (W) ‘q I B-Fob-h (1) B-Fob-h (1) ’
% ) 7 e / [ rovyv® 7
o é;//j - 7 /"'::z : : .
7 /'
| ‘ 3 . - 425\ — 1 F—— im—

N
N
N

CEm -

RARIRRRRRRRRIRRRRRRY

L LSRR ER SRR

| 3,100 2,500
— %
mn ,, = 5. 600
+H / ,,,,/ i
Wz ,,,,,,,,ﬂ
%
/
77
77
7
77
7
77
7
77
7
77 o
v 8
7 (H2200) =4
7 ‘”5
77
7
77
7
g ERE IEAEEICB 18+
5 Y =
% BRELIZA 1800, |
g
i
_ _
LAAIIIIIIIIL| ]
S
=
= —_—
B ERE
RCBi% H=1800
5.600 A-type

34.51 m HREYFTEE
10. 62 &

H) BFROETEEASA TFEFMENESRET S,

2,250

|

7,450

4,850

N
350)




7,100

350,

1,500 2,700 1,500

=

3,200

Su
<
A\
s
) e

NN

RN

&

NN

6,000

1,080

[ ——

o

Z IIIIIIAVIIIII///II’//IIII;IIIIIIIIIIIIII
Tt s st e

Tyxs\ [E 20 ﬂ/:_E

CH:2150 i

I £ b

~—— TFYXH#
| cH2800

e T T
RITRITRRTIRIRTRURRRRRRRRRRRRRRRRRY

1,720
\;

<

IIIAWIIIIIIIIIIIIIIIIIIIIIIIIIIIII”
7727777777777 7T 7 T T

S

3. 400 J 2,200 1 1,500

v

7
4
7

NS\

7

THFR

3,100
6.000

2,900

7,100

350

EERTEFER

EEPDB

RCBi# ‘
. |
f T ‘
1L#CB 1B+
BIEL 7 x> ZXH=1800
{EHEE#CB (GLiZ) +
49h7122 H=1450
£
Hospa=+ g I ‘
3 g !
- &
=
A £
L 5 -
= =4
| o
= )
kR ACB (6LZ) +
39h71u2 H=1450
{
|
;? LDK ‘
%
é; 9.9 m4 )
0 SR 099
i “
%7 ,
/ I = T 1 R 7
o e T i
oz IIIIIIIIIIIIIIIIIIIIIIII///II//IIIII.E 27) - I
i p— ~ LEEN
qF EHE 5 |
- | E
5 = |
A
o
RCBHR#
350,
SHETE

B-type
35.15 m
10.79 i

) GFAOETEEBY S JTAHMERESRET 5.

hRBYTEE




5,600
2,500 3,100 5,600

iy

350,

— — ==

)

350)
350

350

4,850

1. 450

2,250

Q$&

t i

6

1,500
1,500
1,500

_—
IRRRRRRIRRRRNRR

= o A~

= FYRT HyB~TF)

NLECZEY
~

W
it
2,550

TR FFR

2,550

B=Tob-1 (W)

4.3 5

L=/ )La=— [l

7.100

\
[

A\

Bs | moh-

=7
S
Al
o) I
||
‘<l
g
N
N
%
N
\
- —
AN
\
|
I
7,100
7,100
3,900

T !
17
i
Y 121 I
. b

MEE [

7500 o WL
! [ | w HEF [P
I 17 AR snvy

3,050
3,050

TYX
CH:2300 _:
< — 2 -3 _ L750\ i

7

A —
2 T;@ oty
X _ | X X | | R 5 WA 1750
. w R "

_ [ VA | | A e — T L

N\
A\

d\ﬁﬁtmm

2,550 l 3. 050 6 W T @R MR 7T @R

5,600 ) BEFRO&THECE A TFE ) ERAOETERCS( TRERARELELT 5.

HEERTE

C-type
34.23 m
10. 62 1

hARZVT7EE



5,700

1,800

3,050

2, 650

D-type

34.94 m
10. 83 tf

7,100 350,
2,250 T 4,850
Lo e
— 7l
B A
o
o
= ©
3 o
HEE L
| g
FE B 5 =
—— ©
| b \
s
\ =3 ¢ ® S
3 = o
FHABRT sRy ; ’ Eﬁ L= 2
= uB N 43t £ o
1216 ‘ n 3 3 1
w /] s & | TRER
[ 7y | S| £ o
—_— 1 __ I.
— m— T I
[
. o |
‘ I |
== il
3,050 | 2,550
5, 600 1,500 350]

HRARVTEE



5,600

2,500 3,100
3 — — THFRE 3
B — ™,
— Z Z =
- 12 A = 4.5,
B-T-h (D) - oran 3
171 . _ | g
7 A= NL3a =— W8 “
A, ,\\
7 s \
I
H “ AR w = |
! AU -0 47 T Y27 32 (3~TF)
o 124 LDK (o
I
3
i o
N (23
ry
o
g o
= o
a ~
S
. | 1 g
7 51075 21 ‘\ e
| f =N - -
= Jl
2 17 L1500 sHMY i
< I TYEH . o ‘
N CH:2300 ;% E Fﬁ' E %
~ r 7 — =] ©
e . [= , 7 <
- - # B
W %B
[ — AN — oY | /

2,550 | 3,050

5,600

AERTEHER

E-type
3B. 11 m
10. 89 1F

5,600

I L n m—

RCBi#

L REEFCB 1R+
BR LIz H=1800

JEHERHCB 1B+
BRE LIz H=1800

AERERI 0B 18+
BB LIz H=1800

=y

NSy

ANRERANANR

’{7

A

SRAETHEHM

t) EFFROETREES( TFEHMRNESBLET 5,

hRAZYT7EE



9,100

2,850

2,750

7,100 350
1,650 1 1,990 T 3,460
{l | ni
. !
; I il
A 7
C i/

e .=

2 7 B il | EET
g 1YY/ 1216 7FF| th A 6.0 |I]E
7 Lo -n 47

1

il

N

ﬁuu\

) e I
el r
\7/ m‘—n 13.3 :\

3.500

=
FARSAR

L1800
1Tk 993
H=Fob-I (W)

TFYXH
CH:2300

Kk

Vﬂ:; 0
//IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII M Y LTI I LI 77T 7T 77 P77 7 7 7 77 777 III/ 7

‘%

E)

H=Fob=b (W)

\

—
B\
kA :5] Tl TYRH ¢
Iy~ 13 |1 oH:2150 S
D — — — )

n¥ey

W

SRS
AN ANV

N

IRTIRRRRIRRRRTRRRRRRRRRRRRRRRIRRRY

<

s

=Tk 92
H=Fob- (W)

|
/ HEE2 “
5.5 mﬁ - 993 |
) = A e
IN7; Vlmg—g,ymzj
o7 L 7z ]
/| 2 ST
:// _— epwai[shwas
/ BT %
//,,4‘__. T
7 T e st
'9 - T TimE T
7
A
|
¢
2,850 J 2,750 J 1,500

4

SN

e
ANRARNRNNNNNN

7,100

350)

- )
o =T
2 —
® I s
«
v
=E S
<3
E .'l‘ S
L ~
h TIEE o
D
177 - i
- % %
7 ,/
2 7 ’
vy - e — — 72
= I
~ S ahiz
;, | TRFR
o
=g =
53 <
Y iL
/ i3 \
0 A N
7 =/ irrrsrag]
) r ] 2. m,,,,ag
S T
= 7 9
| 7 7
o 7
9 9
7
7 7
. 7
7 — 7 o
7 . _ ﬁa =3
— % - I—TnN)ba=—— % 3|
7 7 o
5 - = = 5 7
3 7 / - —| /
@ E/ 7 IREBTER /, 4
7 4
7 Y
.
7 7
7 7
7 %
Q‘ 22
o
1
T

ARTEHER

) GFROETEEFS A TPEA#ERESRET S,

F-type

51.71 m . .
N T4 I ULOTURESE
15.90 1F



